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a—FR e Hifk | FER (kg) &% (M) = i Sl PE Hf (BAL)
Y3011 HAM () 20 11, 848 702 702 238 | BN 20kg
31900 X 8 4,023 864 324 324 | BN 8kg
31900 ¥ 2 1,836 130 119 119 | BA 1548
34330 Ed 108 14,129 43 13 65N 5404

34100 FAM 9 605 22 11 11| BWN 434
34200 K 33 3, 823 140 108 108 | &A 33kg
34500 bB—< 19 9,531 497 486 486 | BN 19kg
Y3033 ZHRAL 89 16, 249 194 184 157 | B 89kg
Y3044 EFEH) 5 370 76 76 76| BN 5kg
36600 7—ERE 40 4, 860 130 130 108 | B 40kg
34930 LA 35 1,626 38 3 1BA 117K
35940 A4 151 93, 321 648 605 605 | B 151kg
34800 H< 5 20 7,533 49 38 38 | B 197% > k
36340 L Xz EIE 7 3,510 594 594 270 | BN Tkg
37510 #H L% 0 324 324 324 324 | BN 148
48000 U 570 46, 807 1, 080 324 140 | B 1141
Y4010 /NEF D 42 5, 400 281 238 216 | B 211A
49470 Ny m LT A—Y 17 22, 334 162 108 108 | B 1681
71030 | KT &+ 3, 240 65 65 43| BN 604

© 21032 K&+ (R) 2,020 38 16 16 | &M 904
71040 1 EANE 729 76 76 70| BWN 104
71150 LT 583 32 32 32| BW 183
71286 Jm—HL 11, 556 157 157 130 | BN 807
30100 72W\WZ A 39 6, 188 184 151 151 | dbvgE 394
30100 72T A B 2 162 162 162 162 | LigiE 1k
30300 A% L 100 17, 064 2,376 2,376 648 | & 7% 104 — A
31100 H3E L 30 12, 960 6, 480 6,480 6,480 | R EF 24— R
33810 FHEX 5, 184 2, 592 2,592 2,592 | & 27— A
33810 HEX 1,728 86 86 86 EEIRE 2048
Y5005 4 k%EA 10 3,067 1,534| 1,534  1,534| k4% 24—
31700 ¥~ 20 5,616 2, 808 2, 808 2,160 | B 247 — A
31700 F Y 310 36, 936 1,512 1,188 864 | AEAS 317 —2R
31800 |25 hAE 4 3,240 162 162 162 RS 2088
31950 HARE M 3 1,188 1,188 1,188 1,188 | K%y 1r—2=
31900 ¥ 5 4, 320 432 432 432 |EIR B 103R (500g)
31930 ZhX 6 5,184 86 86 86 |13 ¥l 6045
31930 Zh¥ 3 6, 804 6, 804 6, 804 6, 804 | £ 17 —2
32800 {26 5 918 32 11 11 | E 503
34300 o 2L 5 594 594 594 594 | & Iy 1r—2=
34320 ~N\WVRF M 11 1, 750 32 32 32 | By 54
34400 k= k 48 19,494 | 1,728 1,512 1,512 | EiE 124 — =
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a— R g Hitk | BER (kg) &% (M) El i e | PE M (EAL)
34400 h= b M 12 5, 832 1,944 1,944 1,944 | K%y 34—
34460 I =L F & 3 1,825 140 140 140 K4y 1323y 7
34460 =L F & M | 6 1, 944 972 972 972 FEK  2h—R
34100 #A/K 2L 80 15, 984 1,404 864 864 | E IR 164 —
34100 #A/K L 15 7,776 2,592 2,592 2,592 |'eT Iy 34— R
34571 2F VU H GR) 2 421 43 43 32 | E&[E 1114
34572 ST YA (F) 7 1,814 43 43 32 | 8% [E 481#
36200 FE4AE 2L 100 8, 100 864 864 756 | B 104 — 2
36600 7=FE L 60 9, 396 3,132 3,132 3,132 55 34—
33400 L& R 6 2,938 184 184 184 | B8 16/8
33410 H=—1L & 2 L 3 2, 700 2,700 2,700 2,700 R B 17 —=
33410 H=—L &R M 4 2,527 140 140 140 | K% 18{#
33420 ZY—LU—TLHR M 4 1, 555 86 86 86 | K I 18f@
Y3092 ~AL—Y—7 4 3, 888 194 194 194 |BER B 2048
33300 Tmyal— 22 4, 817 97 76 43 | byl 72{8
38100 A LV =T 10 6, 723 76 70 54 | B I5 10073y 7
Y3137 I v/ AHROL 2 454 38 38 38 | K4y 1248
31310 AT 5 2,970 119 119 119 | {& ) 2548
31500 /A 12 5, 562 108 86 86 | B2 5 604
32500 HiF 2 432 22 22 22 | & [ 203
37560 BBIT ‘ 1 6, 480 864 864 756 | K4y 8y s
38400 X DEH : 5 1, 026 21 21 21 | B 504%
38521 SRLOHULHE 3 2, 430 81 81 81 & 3048
Y4008 | /N7 R I A 2L 25 9, 396 1,944 1,836 1,836 |#£5 54— &
42320 (Y aFHd— R 10 7, 452 7, 452 7, 452 7,452 | HF & 17 —=
45230 EiER LS 5 4,838 302 302 302 |[1£8 1673y 7
Y4006 Y =—L—a 4 3, 240 1, 620 1, 620 1,620 | ‘=& 24— R
44000 b b 20 8,208| 2,160 2,160 1,728 B 44—
44531 7T h=a vy k 1 11 11 11 11 & 1L
44531 T b=y b 4 2, 084 173 173 140 | (LFY 138y 7
49100 SFF 216 43, 308 3, 888 3, 888 1,620 7 4 U B 185 — A
44400 R H Y v 5 1,944 194 194 194 | R B 103y 7
45800 W5 K 2 1,123 140 140 140 |48 @ 88y 7
Y4007 S—AF ¥ A 15 10, 692 3, 564 3, 564 3,564| =a—— 34 —2R
A
aEt ) 7 2,463 588, 544
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